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= 1,474,000
01 A& HI 1,464,102 698,000 766,102
NOFSHEEZ LAY 788,998,000 788,998
= 788,998
NZLAHZSZNEAS 198,560, 000& 198,560
= 198,560
NESLMHESHZMNL ALY 476,544,000 476,544
- 476,544
03 Al S HHI 9,898 0 9,898
NOFSHESZ A AL 5,002,000 5,002
= 5,002
NELAHZEZ LA 1,440,000 1,440
- 1,440
NESLLME AN AL 3,456,000 3,456
= 3,456
MR Dl =HEHI(HIXIZ22UW)EN E2 20,000 0 20,000
401 AIEHI L 2 CHEI 20,000 0 20,000
01 A& tI 20,000 0 20,000
NI =HFHI(BIXS2H) 20 22
20,000, 000& 20,000
AL I (o =40t 13,800 13,800 0
JlE3l 13,800 13,800 0
Jl2&l 13,800 13,800 0
201 Let2d] 5,100 5,100 0
01 At 22l 5,100 5,100 0
NEA2Y AREEH 200,000 »15H 3,000
=&l 7,000& =15 203 2,100
202 o4dl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
NEM2Z ol 50,000 *15% x6 3] 4,500
203 YR =] 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
Dol a0 2A2Y 350,000& = 12& 4,200




